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HELLO BVERYONE!

What type of texts do you like to transl
or what?

Student: sport.

Student: science.

Iustructor: did you prefer texts that we had earlier?

Student: yes.

Student: no.

Student:

ate? Political texts, literary texts,

ﬂ_u_ﬂ u_u '5)@\:&4 ?S
Instructor: o
JE PRATORUN\ I T R EA TN
¥k ok
Today, we will continue with Chapter 3 which is entitled The Genre
and Text Type.
We w111 thl with The Notion u/ Text Type on p‘lgzc 46:

A The Notion of Text Type i :
Accordmg to Hatim texts are classified into three main types: exposition,

argumentation and instruction.
The translation:

sy Joably il 1oa Ll £3la @06 G o gualll alial @il iy

Text Types:

1. Expository: gomdif o [ sla)

2. Argumentative: ;A4

3. Instructional: (=34

Let’s start with the first type:
The expository text type. |

Expository texts start with a topic_sentence which sets the scene. Th|s
sentence is followed by various aspects of the scene which are presented
unevaluatively.

Such texts can analyse cancepts, narrate, describe, or they may combine the

three communicative goals. This means that expository can be (a) descriptive,
(b) narrative, and (c) conceptual.

Note that the genre of news reporting comes under expository texts.
- Descriptive: (sas
- Narrative; 2 y«

- Conceptual: explaining a certain concept, idea, or term ( solis).

—— e T
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The tr;ggslation:

71“;5-.)‘ ,,. g ;-‘»: o8 '" ‘.,:5‘ “,V" : :"'.:h . ' . g_)-lld.ﬂ-h”l'-q nh&-’ .\

Cl}_- L_MJJ 414:;” FRTY C_;.uj .J,s_m_ug_a_;m'.:,_,_” t}mjﬂ 4,(_4_,-;4 4_,,;“_;]‘ 3..A.J| lJ.u
Syl @alall Judsy agddl sda Jie Ol (Gl JCh dande agluell Baadis
Zu}gg X! _)._.Laa.;!:l.” (:,i g_u__. ‘MJ ,L:_A %)L"J‘ ‘J‘;')f;‘y‘ PRYS C_a._ﬁ A8 l_s_ﬁ J‘i t...«'s,u:_yjb

Liy

PRy

audlia g

Al o gealll dasd ol gy (LWl g g oof LY

The genre of news reports comes under the ‘exposifory text’ because
in news reports they are cither narrating a story. they are cither describing
a crime, or they are analysing something important in a country etc., so

news reports come under expository text type.

2. The argumentative text type: A A

The text producer is engaged in what is called "sntuatlon managmg B

Argumentation starts with a tone-setter which presents a thesis tﬁa* ic 10
be argued evaluatively.

- Thesis: subject/idea.

The translation:

. t_d.Qj.u o)b' (A Lu Ja.o.:." ‘J.A & L)A“'” w (.Ln.m.u
el A3y play 4515 @ Gl § guo gall Tugill V51 Jundl gy

I present a .;ubject. [ statc my opinion which is cither with or against
this subject. That is the meaning of ‘tonc-setter’. [ start with stating the
subject, and then I develop my opinion on it. When | present an opinion, I
present an argument in order to show my point of view.

¥ kK

Bl | The instructional text types A
It 2ims at the formation of a future behawour

The tmnslanon

" l.a.,,.!! t_t}.Ll.u_” mLm uJ| Jw.... |..ua By

For exanmlc at the begnmmg of the 'scmeetcr when | give you a sct of
notes and comments in a shape of a text (for example, be on time, keep
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your mobile silent etc.) and I tell you fi. you need to act according to

these notes; this is the aim of my text to build up a future behaviour.

T ivanstation point of view :
" Within one and the same language, communication between participants is
much more facilitated when they know the genre they are dealing with and
the corresponding generic conventions.

The translation:

~ Go to page 52: o I

k3 IR RGN 3

E;JJ' UALN &_9.» Qﬁ)ml d.!_)

aalgsllal gt gd (e dp dadin bag das Oslaley

As we said the previous time, the conventions of a certain structure of a
certain text play a major role in the communication beiween the text
producer and the text receiver.

This sort of knowledge becomes much more crucial when two languages
are involved.

The translation:

el Bdae 2. i W jail e dueal ST 205000 o0 ey

Go on: .

The incompetent translator is more likely to struggle with the text s/he is
trying to translate not because of problematic areas such as lexicon and
grammar, but rather because of the generic conventions s/he fails to
recognise.

The translation:
Sl s ot a3 sl S el o 348 5 omill iy o bl o
Dl 2 Jhiy Ul R gl aclsal el sl a1y aelsdlly @omell Jie ANISEY!

That shows the importance of knowing the genre of the text that you are
dealing with. If you are not familiar with the genre of instructional text
type, for example, and | keep telling you instructions like dont talk to
your friend, keep your mobile phone silent and you are not familiar with
that, you will think that [’m just telling you concerns or just I'm
communicating or describing something. You wouldn’t understand that

you need to form your behaviours according 1o these instructions, so this is
where the error happens.

%k x

. ———
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The translator needs to: '

A) Be competent enough to identify the generic membership of the souice
language text, and hence to appropriately understand it and its function.
B) Know the conventions that usually govern the creation of this particular
genre in the target language, and :
C)} Reproduce the message of the scurce text in the efficient, natural and
__smooth way expected in the target language.

The translation:

) Fadomy a3l

AWy e £ 98 LV el (Ll spu pulsiand i L Slage 0sSe of
Al 33 lally a5y gy degis

(Dl BUE e il ¢ gl L ] Gale oS G leal! Cpmy o o

Al & e @ LS iy Lonla g Rty Wiy phay o) it sy 23] ey o
gl

The translator needs to maintain the core message of the original text

and to deliver it in the same way in the target text.
dofe x

s Caltions < s s R T e R R B R
1. The translator should try hard to preserve the message of the source
text.
2. The degree of the translator’s intervention depends to a large extent on
kow close the generic reguiations of the source text are to those of the target

Let us continue on page 55:

fext.
- Intervention: Js - N
The translation:

,;,L‘,s;t paidl Wy ple Aol 2 ouga Juie o aitl le 1
cel“’s” el due gt il gl )lid ae Gle S da QI )il J5S Aays el LY
wBagll Gaull e gl (il gall

This defines the limits of the intervention of the translator.

When we have a text and we need to translate it to another language,
maybe somelimes we add some words either to make the text more
understandable or to make it pretty or to make it more efficient, but that
has a limit. We cannot add words according to our interest. We cannot do
that, so we need to understand that the translator nceds to knovy the generic
regulations of the source text and fo add according to them in the target

Science of Translation 2.5 5
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1oL, . - : A e o e gl o
I, (source language) 4! 4 (generic regulations) = 42 OF 13 peall e
Gl A Ly st OS O (5) @t Rt A3l (A O 958 «(target language)
Yol ey Tae oLl alas 3T Ji (and) aaiy clabadll g (commas) M‘u_)dia\’l
e D 13 alsy 6 o 4y 31 Al (5 haail S G (and) e OF e il 5,
b LAY A s ) (target language) A (generic regulations) b dals 4l

AN o
3. The rhetorical purpose of the source text should by no means bel
compromised.

- Compromise: ke pbw/d i
~_ The translation: - ‘
l oaeall Gadll Lt/ L2l oyl e J3lal JISaY e JS& $h G ¥ T
j - FAdk kA Ak kA Ak

Let us move to our text for today:
Sluaxd g ge LS 4l ol Judl dus e Blis J5udll aue ageaa lay Laga
0A 3l yam e Oluss Oe polidl 20 53600 2 6 Ledie (31 2odls @l cilS 1<
Gl LY Sie Teidl Al 1da Gt w3y Jlee¥l e Sla sue 5l 13 ol8 2w
Acgalt aleel lgy ol G de,ull 2 Wl @ilplie calS aLESH e 6,30 degans
Al alilyy aol VALY ale IDATATooy g )l g5 (S G
Jadl Rbjye F00 OIS @rek ol B (i 0y 5u JSh 530 Gamd gt il
032 Suslieh Ohle Llgy Slaue ClS @l pe plus I Jhall 1is el asd gl
35805 OIS bl elael e susly Lalde il Lgwil 3855 olag Ling b Y (el g
2 gy alsy clogus (S pyully Wye Ll oIS 6l 20 3,65 361 o
MY ale by gis A 3y

% ok
Stndent;
Sl oalll Jiadly Jaal) pdo (Jaal) p3e) o2 2 gealall
Instructor: we will come to it.
et see lﬂl_\p_ﬁrst sentence:

| cleois e LS 4l o5 dadl oo oy Gldn 500 pie apgin iy Leas

Who would like to try?
Stadent:

- 't oy e » - > '/
No matter how attraclive the concept of non-interference seemed in
principle; its results were less attractive as depicted by Dickens’ characters

N — e 7. e e e e v e ——— e appt
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Instructor:

First of all, this is not how we translate (Jaxill axe), Second of all, what
did you translate (4132)?

Student: attractive.

Instructor: do you think that there is more appropriate word?

Student: appealing.

Instructor: exactly,

(Appealing) is more appropriate here.

appealing ;i -

Who else?

Student:

However appealing the concept of laissez-faire may seem in principle,
its consequences, as portrayed by Dickens’ characters, arc less so.

Instructor:

{Laissez-faire) is not the word here. You say (are less so) and this is
acceptable but we don’t say (less so) here because this text is formal, so
we need to give an adjective. We can say (less appealing) or (less
desirable).

How can we translate (J33il sxe 4 sgis) here?

Student:

el el faadlly oy 130 LYY 3y o(ang 423) S Jail pe

Instructor: what do we call this concept in English?

Student: non-intcrvention.

Student: freedom.

Instructor: no, it’s not. Did you try to look it up?

Student: non-inter{crence.

Instructor: this is a literal translation; it’s acceptable, but this is not the
exact ferm.

Student:

fuoill 138 8 ool (3o (e elbacadlt 1aa IS o i el 1D s

Instructor:

(frce enterprise) s» gosaall y il =llaadly dlia gaiaidl g

Student:

Instructor:
free enterprise is ) A psetay 3% Lima 4l g G fad palll a4

[(depicted in it
Al Meds Bs pseaisb ol s (free enterprise) J1 assie o o
This is why we need the exact word here.”

. . ATeL Ty s
Seence v ¢ irn 2.5 7 o I
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Stuzieant. fole JS LYl o paly S o add UAL) 3Ll
instrucier:
Lo o shastiy U gl ity ety et 13 Y lly L
- Free enterprise; an economic system in which privaie business
operates in competition and largely free of state’s control.
It means the government does not intervene with the private businesses
or private companies.
notion/concept pseia -
free enterprise il pae
appealing :la -
principle Haa -
may appear in principle el us ga -
As depicted el ls -
characters :Sluadl -
less desirable iuwila il -
I’ll read my translation: -
However appealing the notion of free enterprise may appear in
principle, its results as depicted by Dickens’ characters are less desirable.

{(both are correct) Ua (notion) s (concept) Jsii ¢ (Sa
%k sk ok

The next sentence:
kbamﬁiﬁoELOApL@_ﬂOzoiﬁ}}wtﬂm| 2 53K 2 g3 ladie
Jlac¥l e

Who would like to try?

Student:

When Dickens died on the 9" of June at the age of 58, he had
accomplished an enormous number of works.

Instructor: ok.

Student: can we say (achieved) rather than (accomplished)?

Insfrucior: ok. Both are correct,

Student: can we say (wrote) instead of (accomplished)?

Instructor: (wrote) is also correct. We also can say (produced).

' accomplished/achieved/wrote/produced : jail -
Who else would like to try?

Stadent:

VWhen Dickens passed away on the 9" of Jupe at age of 58, he had
accaaplislied an enormous number of works.

B P e
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Instructor: ok; but (died) better than (passed away).
Student:
P(great deal) Jsii o} (S Jo
Instructor: no, we can’t because it’s less formal. (Great number) is
correct.
%k ok

Go on:

LI o 653 Lo gama I WLAYL She Lusidl Gy s e ubj
Who would like to try?
Student:

fleiibon Alaall o3a day yi of Sy o
Instructor: yes, we can.
Student:
When Dickens died on the 9" of June at the age of 58, he had produced
a great number of works including his fifteen novels and another series of
writings.
Instructor: we don’t say (series) here because they aren’t (series).

(W) el (e gons) 1l 6
Student:
e 4 338 oSl
Instructor:

o848 jite Jieed eyl oS ol Jlaiat Wigh apaad e i jad Y o 0N oma
@A de gana) 151 g€ (series) st of Lale O (Jac ¥ e Aialisy 106 ) gl
(Lush e
Student: can we say (set)?
Instructor: yes, we can. It’s better to say (a variety of other writings).
Student: ’
¢(fifteen novels among other writings) Jsii of oSar Ja
Instructor: no, we can’t. ‘ ) e
other ) ! a= (included) yasal (10) A1 Of el AN 03 (4 il oY
(writings
impressive number :Jis ax -
included e -
as well as 1) AdbaYu -
a variety of other writings WSl ga Jle 2o -

'l read my translation:

When Dickens died on the gth he
produced an impressive number of works. This inc

of June at the age of 58, he had|
luded his fifteon |

Sclence of 'I‘ranslalion_z.;j 9 AYDI12022/T1
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novels 3 uell as a vaﬂety of other vmtmgs.

sentcncc.. as your fncnd dld
Student: . o
f(writings) o= Yo (works) dsii O (Say da
Instructor: yes, we can.
Student: ‘
®(in addition to) Jsb o) oSar da
Instructor: yes, we can.
Student: '
*(his fiftcen novels) W & (his) (Je 85 Ol sosoall ga e
Instrucior: .
rellal )y W e oS0 13s i ga 5 a1 al e W GDA G e S aa 5 Lia
You have to connect it with (his), but it's not completely wrong to omit
it.
R S

Continue please:

A gad! Alael (P ).aul '" de sl & s a3l ulie cil€

Student:
Lal 3 (3_lia) 4alS (e Ziiall a3 Bale (paid oy el 4all o Alaalloda L BASIS 00y
Instructer:
g pasall 1 330 ) Sy Gl 85 rama 2N 130
Student:

(Ahalgialy JE o oS
Insiructor: (Saa

Tle e &y an (431 ,) 15l Lanie
%M; ASllgial
Student: 4telyl
Student: e
Insirucior:
(his production) dsbuy Js5 ol S AN dgail 3 Qe e ¢ aay o
Who would like to try?
Student:
His product was evident in the spced with which he completed his
various works,
Instructor: thank you.
Student:

ERR S

Science of Translation 2.5 10 AYTI2022/T1
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f(evident) o= Yy (obvious) i of (Ka) a
Instructor: no, we can’t. :
() o (evident) 4 (evident) (ina (uii oad laa (z=als) 35 (obvious)
(clear to eye) (s (0bvious) Laiy co ol 13g: xund i Jidi aif (siaay
Student:
il Uia (g (clear) 4alS ol P TRATS
Instructor:
(his production) b Jisia S 4il s 8 e b alil Uil i (clear) a8
(Evident) is the best word to put here,
evident : Ll -
dok Ak
Continuc please:
Avlad lilsy 2ol ALY ale JI11ATA Ty @l pol UM s sy
Who would like to try?
Student:
During four years, from 1842 to 1838, he wrote four core/basic novels,
Instructor: we don’t start the sentence with (during four years), why?
SIS IS g VALY VAT e el il O3S il a et Y
I’s better to say (in the four years from 1838 to 1842, he wrote...).
fU55 ol ¢S 13le e(basic) Y5 (core) Jsi Y Us () I Loty
Student: essential.
Instructor: no, it’s not.

(pe=) Wali=s (essential)
Student: major.
Instruetor: exactly.
(major) Jsii La

major :Audul -

We can say,
In the four years from 1838 to 1842, he wrote four major novels.

Student:

f(over four years) dsii o} (Sa Ja
Instructor: no, we can’t, .

(2 5w b e ST DR 3 (over four years) oY
Student: ) _
f(and he wrote) - Lol lasi o) (Say Ja

Instructor: no, we can’t, s Tau o Uasly
(incomplete) e el ¥ (and) = (full stop) 3 axs Aan o ol Waddh e

T

-\\‘
Science of Translation 2.5 11
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Go on: . —
Mmﬁf&iuls“)éﬂcﬁiu}ugﬁf“stﬁw)ﬁ“wﬁ a3l 1

—_—

Who would like to hy?

Student:
Dickens’ stories were very popular,

Dickens was prone to failure.
Instructor: ok.
Student:

but even at the top of his fape,

t(exposed to failure) st of ¢S Ja
Instructor: no, we can’t,
he was there and everyone ) 5 (exposed) oS (ae) 4l G (prone)
(s o) 4l ina ghara Y 102 5 (crilicized him
Student: )
f(subject to) Jss o Sar
Instructor: ok. It’s correct. Who clse?
Student:
Dickens’ storics were very popular, but even at the height of his fame,
Dickens was vulnerable to failure.
Instructor: we can't say (vulnerable) here because it means (U) or can
be easily affected.
il ga (Uil A o) Liead
It's correct that he was at the height of his popularity but stili there was
a room for negative criticism.
subject to/prone to =H da e -
.L‘LA U\A.m.u.a O‘_)L.._\&jl L‘J\SA
Student:
f(popular) O Yo (largely famous) Jst Of oS
instructor:
(Largely famous) is not correct. (Popularity) and (fame) are more
accurate.

opularity/fame s -
Student: POl y -

f(well-known) J s ol oS

Instructor: no, we can’t,
(Well-known) means (<) but he didn’t establish fane.
immensely 1S JS& -

at the height 125l &* -

failure :J= -
We can say

12 AYDI 2022/ T1

Science of Translation 2.5

Scanned with CamScanner



- Dickens’ stories were immensely popular, but even at the height of his
popularity. he was subject to failure.

Studeni:
————— ‘.-4 I e . > .
_ ’-4-1»»-1. w2 (popularity) s (popular) Jst of aalidi oy s
Instruetor: it’s ok. It doesn’t weaken the meaning here.
[(original text) B 383 m 5o ed e 50 e bS5 o
Student:
(fame) Jie L8l o3gd Joay a5 53 2] Ul
Instructor:
{entirely wrong) <ud (oa oS (Sas

Aok %
Continue piease:
032 <esed Ol Aly) @lae ilS w580 pa plyn I ol Lia dial wsd g0
Ailly) @laal e ooy Lade (Al Lguis 33505 ldg ing b Y eeild g
Who would like to try?
Student:

rlf y Lt ae Aaall o2 iy 5 Ul
... prone to failure one of which led him conflict with his publishers...
Instructor:
Wal i s Ly (pen) e saile 585 O sy (one of which) Jsii e
(a=2) oatly (AeS) sl (failure)
you have to ) ! «(one such relative failure) - L dlasll Ly 53 of Sy Us
A3 (AaS) o 5 ke (failure) OY Basa uli 4iili L Ll ¢(repeat the word failure
Jsii ol 5 U eyl Al (4 Lo (55 O (Saall 0n O (group of failures) Wl ¢l
.(one such relative failure)

Student: :
¢(onc day this failure led to a struggle ) JsB of ¢S Js

Instruetor: no, we can’t. i _
Ol By gm ga e (5 pal Aaglas izl (intervention) = L £y yhall 3¢y WY
| e Lyl 8 giban Alaali 3 0 5o a1l Lol
Who would like to try?
Student:

One such relative failure . '
publishers. Martin Chuzzlewit novel sales fell short of their expectations,

not even those of Dickens, who considered one of his greatest novels.

Instructor: not (led him) because (failure led to). ” .
L ' (him) ¢ (led t0) (s 55 u‘ CSay elal

U cileal) o3n (o ypanil) A gmnall &g yhall Casd o368 «(fol! short) Jsii o gemea ol

led him to conflict with his

e— e -— VDI 20" i
Sclence of Transtoiion " 13 o
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(were below the =xpectations) Joi O ey
Jst o oS U il 5 g e (Snall (not even the e of Dickens) s chiz:
=Yl g 138 (and even below those of Dickens) Ul
sales (Slane -
below their expeclations :pelsd s (58 -
We can say,

The sales of Martin Chuzzlewit were below their expectations and
indeed below those of Dickens himself, who had thought of it as one of
the greatest novels.

Student: :

(who had thought of it) o= Y2 (who had considered it) Jsi O (Sap o

Instructor: yes, you can. Both are correct.

Where did | intervene in this sentence? Where did I add a word that is
not completely original in the text?

When [ connected the two sentences I said (and in decd below those...);
we don’t have (indeed) in the original text. This is apn acceptable
intervention because it affirmed the meaning of the sentence; it made it
clearer. This is why it's acceplable.

ok *

Go to the last sentence:

play oloyes i 7 yudly Wee il ol Gle) & 55ea 58V 15,00 5380 ols
AA0Y ale Liyges 3l 5y ins 2 Lgaalsy

Who would like to try?

Student:

Dickens was the most famous novelist of his time. He was fond of
theater as well. He wrote plays and performed them in the presence of the
Queen Victoria in 1851.

Instiuctor: thank you. How did you translate (¢ el 12 50)?

Student: fond of.

Instructor: .

1) 22 15 (I'm fond of coffec) Js8 e ce il 138 asy il e (fond of)
he was passionate ) 3,88 (e 3 ol (fond of theatre) 58 2 o< ¢(like it
(about it

fll a5 O Sy S oSy ol g ST 625 b (8 50)

What is the word that describes someone who is so passionate and who

just can’t stay stitl when something is mentioned in front of him.

Student: addicted.

Instructor: no, it’s not. Here we say (enthusiast).

Science of Trauslation 2.5 ga - . AYDI 2022/ T1

Scanned with CamScanner



Student:
{omaia) i S (enthusiast) 4alS
Instructor:
Ll (a5 iy A LS
theater enthusiast ;7 jwalls adsa -
We can say,

[ He was a theater enthusiast.. ...

who would like to try?

Student:

Dickens was the most famous novelist of his time and he was a theater
enthusiast. He wrote plays and performed it in the presence of the Queen
Victoria in 1851,

Instructor:

He wrote plays ) o=!s (He wrote plays and performed them) 58 of cax
(plural) ! (plays) e 32ile (them) Y (and performed it

Student:

Cibaa yuall o3a ey OIS Ol ing 138 o

Instructor: no, he wasn’t.

Loy 5iSa AL Sl (g2 CalS Cla el o 8 5 _S3N
performed el -

We can say:

He was also a theater enthusiast who wrote —|-)Iays and performed them
before the Queen Victoria in 1851.

Student:
oo pell gl gk i Gl cilis puall 028 Jiay S e ga adf g 18 oS
3 Sl
Instructor:

| -5 (passive voice) N paivd Gl (Say
L He was also a theater enthusiast who wrote plays that were performed
before Queen Victoria in 1851.
wrote plays and ) Jsb ol Wle (original text) PRSI NN
Y ol (a part of pertorming) s O o sl ¥ UHA3asd s (performed them
.(he performed them) =« J-=3l (were performed) Sl g i S il il Ul
Student: , ‘
f(4ilay ,3) J e S (in his time) s Y (at that time) Jsii of oS o
Instructor: -
sl Sy sk g e oadil Gaill 3 (el e () Wb gl ad OS5 €05
" (of his time) Js5 44 g GV nall Sl g(aibey B S5

Science of Translation 2.5 | 15 AYDE2022/T1
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Student: bt
T f(of his age) Jsb O ¢Sy
Instructor: no, we can’t. . e e
ot G 0e) ol (among his peers) o5 (s (o 2 0+e) =5 (his age)
eixd Cnpeal (age) Jb cuman i I a5 (e S A 0 me onll 1S
_(ﬁ"]e) (’)S NTIL) Q\‘:‘J.h L’}c Gaadti Leaie Lq‘_, t(o_)A;:_)

Studcht: . o .
(o e b eI ) gl ((pmme) 325 (age) A4S ¢
Instructor: i 3
paill b 53 1 il I 1IN S (ol Eaaag Y S (age) AalS platin¥ el y

) -(“""L“J"gé) s
(in the presence of the Queen) () Wies jit piad SIS (ASLall & o () S Ay
£AT Jla oo b oS qunia la
Student: in front of.
Instrector: no, it’s notl.
Student:
Ll (a)mu_‘!)_\ 3 patall Lo
Instructor: she was there and she watched the plays. ‘
Y%\ + v dassaa (in the presence) oSy (before Queen) 4l JS Js ol oSy

in the presence/before & _pas 4 -
*k ok

Thank You

Page: anliall Calgaall Sadlell Ao
Group: dan il b - agiaall [o_LLQ_L" - Sadlell ause
5495\;! I E R U PR RO
(L) 011 2119889 ala o
@ 0941 322227 :olualy + Lligs oo
it
025664 |
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